APPENDIX A

LIST OF CONDITIONS FOR IDENTIFYING ALL THE TARGET REGISTERS IN THE LFSR USING A
TWO-BYTE MODERATE CONTROL

Table 1. Conditions to confirm all the registers in S;,,;.0&Spy:o1 are affected by faults.

Target Register ~ Keystream Condition

) O34 =035 =1

51 (834, 038) # (1,1), and (644, 6a8) # (1,1),and Sgs = g2 = 1

S2 636 = 040 =1

S3 (634, 038) # (1,1),and (536, d40) # (1,1),and (42, da6) # (1,1),and (546, 50) # (1,1),and Sgs = dgs = 1

Sq O3 = 0an =1

S5 (034, 038) # (1,1), and (864, ds2) # (1,1), and (836, 640) # (1,1), and (3s, 642) # (1,1), and (642, d16) # (1,1),
and (044, d48) # (1,1),and (S4s, 052) # (1,1), and dgg = g6 = 1

S6 640 =044 =1

S7 (634, 638) # (1,1), and (Se4, 6s2) # (1,1), and (836, 640) # (1,1), and (S4z, 646) # (1,1),and 634 = g2 =1

S G40 =046 =1

S9 (8365 640) # (1,1),and (6¢4, 86s) # (1,1),and (83s, 642) # (1,1),and (644, Sas) # (1,1),and 636 = g4 = 1

S10 G4a=048=1

S11 (834, 638) # (1,1),and (838, 642) # (1,1), and (8es, 9s6) # (1,1), and (840, 644) # (1,1), and (846, d50) # (1,1),
and 835 = dgp = 1

S12 (6465 050) = (1,1)

s13 (8365 640) # (1,1),and (840, 644) # (1,1), and (834, Ss2) # (1,1), and (842, Sa6) # (1,1), and (S4s, 52) # (1,1),
and 640 = g4 =1

S14 (048, 052) = (1,1)

S15 (638, 042) # (1,1),and (842, 846) # (1,1),and (3¢, s4) # (1,1),and (544, 48) # (1,1),and 842 = Sg6 = 1

Table 2. Conditions to confirm all the registers in S;,y.2&Sp .3 are affected by faults.

Target Register ~ Keystream Condition

S16 050 =054 =1

S17 844 =080 =1

S18 852 =056 =1

S19 S46 = 082 =1

S20 OS54 =058 =1

S21 (850, 054) # (1,1),and 848 = 64 =1

S22 856 = 060 = 1

S23 (050, 054) # (1,1),and (644, s0) # (1,1),and (52, 656) # (1,1), and (5ss, Ss2) # (1,1),and 659 = Sgs =1

S24 858 = 02 =1

S25 (852, 056) # (1,1),and (646, 8s2) # (1,1),and (854, 655) # (1,1),and (860, d6a) # (1,1),and 652 = 6100 =1

S26 (860, 064) = (1,1)

Sa7 (650, 054) # (1,1),and (O54, 058) # (1,1),and (556, 660) # (1,1), and (Ss2, 6s6) # (1,1),and 654 = 6108 =1

S28 (862, 666) = (1,1)

S29 (052, 056) # (1,1), and (856, S60) # (1,1), and (850, dgs) # (1,1), and (558, S62) # (1,1), and (Jea, des) #
(1,1),and d56 = 6110 =1

530 (864, d6s) = (1,1)

S31 (844, 680) # (1,1), and (654, 858) # (1,1), and (55, 662) # (1,1), and (852, d100) # (1,1), and (Seo, 6a) #

(1,1),and 658 = 112 =1
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Table 3. Conditions to confirm all the registers in S;,,.4&Sp 5 are affected by faults.

Target Register ~ Keystream Condition

S32 (8665 076) # (1,1), and dg6 = 670 =1

533 860 = Ogg = Ogs = 1

534 868 = 072 = 888 = 0100 = 0104 = 6120 = 1 (negligible)
S35 G2 = Ggg =1

536 670 = 074 = Ogp = G102 = S106 = O122 = 1 (negligible)
$37 867 = 0100 = 1

S38 g6 = 076 =1

S39 Ss2 = 8102 = 6114 = S130 = 1 (94.34%)

S40 S6g = 073 =1

S41 684 = 0104 = 0116 = S132 = 1 (negligible)

S42 838 = 070 = 676 = 80 = b108 = 0112 =1

S43 886 = 0106 = 0118 = 134 = 1 (51.02%)

Saa (040, 0s2) = (1,1)

S45 Sss = 0108 = 6120 = S136 = 1 (49.75%)

Sa6 (842, 684) = (1,1)

Sa7 O90 = 6110 = 0122 = 6133 = 1 (51.81%)

Table 4. Conditions to confirm all the registers in S, ;.6&Spy:.7 are affected by faults.

Target Register ~ Keystream Condition

S48 76 = 0g6 = 1

Sa9 892 = 8112 = 8124 = 140 = 1 (negligible)
S50 578 = 8ss = 1 (negligible)

S51 894 = 0114 = 8126 = S142 =1

S52 848 = Og0 = 086 = Ogp = 0118 = G122 =1
S53 896 = 0116 = 6128 = 144 = 1 (84.03%)
S54 850 = Og2 = Ogg = 92 = d120 = O124 =1
S55 898 = 6118 = 6130 = G146 = 1 (89.29%)
556 G52 = Oga = 090 = O9ga = O122 = S126 = 1
S57 8100 = 0120 = O132 = O145 = 1 (85.47%)
S58 854 = Og6 = O92 = g6 = 0124 = G128 = 1
S59 6102 = 6122 = 8134 = 150 = 1 (80%)
560 (856, 09s) = (1,1)

S61 8104 = 0124 = S136 = 152 = 1 (78.84%)
562 (8585 6100) = (1, 1)

563 8106 = 0126 = 6138 = 0154 = 1 (78.74%)
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Table 5. Conditions to confirm all the registers in S, ;.3&Spy:c9 are affected by faults.

Target Register ~ Keystream Condition

564 860 = 092 = O9g = G102 = O130 = O134 =1
S65 6108 = 6128 = 8140 = S156 = 1 (40.82%)
566 862 = 0ga = 6100 = 0104 = 0132 = O136 = 1
S67 6110 = 6130 = 8142 = S158 = 1 (45.05%)
S68 864 = 096 = 6102 = G106 = 0134 = S138 = 1
S69 G112 = G132 = G144 = S160 = 1 (40.82%)
S70 034 = 0124 =1

S71 82 = Ogg = 6114 = G130 = 0134 = G152 =1
S72 636 = 0126 = 1

s73 884 = 8100 = 6116 = 132 = 0136 = 0154 = 1
574 G38 = 0128 = 1

575 (6405 6103) # (1,1),and dg6 = d102 = 1
S76 640 = 06130 =1

s77 8gg = 0104 = 8120 = G136 = 0140 = S158 = 1
S78 642 = 0132 =1

S79 890 = 0106 = G122 = 138 = 0142 = S160 = 1

Table 6. Conditions to confirm all the registers in S;,,.10&S,y:c11 are affected by faults.

Target Register ~ Keystream Condition

S80 (840> 672, 61045 0114, 0134, 01465 0162, O168) # (1,1,1,1,1,1,1,1), and 44 = S102 = G114 = S118 = G134 =
G146 = 0150 = 0166 = 1

Ss1 834 = Jp6 = O9g = G108 = O128 = 6140 = 156 = O162 = 1

S82 046 = 082 = 0104 = S116 = S136 = O148 = G168 = 1

S83 636 = dps = 0100 = 110 = 0130 = 0142 = 158 = 0164 = 1

S84 O48 = 084 = 6106 = 0118 = 0138 = 0150 = G170 = 1

Ss5 038 = 070 = G102 = 6112 = G132 = 6144 = S160 = G166 = 1

586 850 = 086 = 0108 = 0120 = 0140 = G152 = S172 =1

Ss7 840 = 072 = 6104 = 6114 = 0134 = 8146 = G162 = 168 = 1

Ss8 052 = Ogg = 0110 = O122 = 0142 = 0154 = 6174 = 1

S89 842 = 874 = 6106 = O116 = 0136 = 0148 = G164 = O170 = 1

S90 854 = 090 = 6112 = 124 = 0144 = S156 = S176 = 1

S91 044 = 076 = G108 = 6118 = G138 = 6150 = G166 = S172 = 1

S92 856 = 092 = 0114 = O126 = O146 = 0158 = S178 = 1

S93 846 = 078 = 6110 = 120 = G140 = S152 = 168 = 174 = 1

S94 S0 = 058 = 091 = O116 = 0128 = G148 = G160 = O180 = 1

S95 648 = 680 = 6112 = 6122 = 6142 = 6154 = 6170 = 6176 =1
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Table 7. Conditions to confirm all the registers in S;,;.12&54,,:.13 are affected by faults.

Target Register ~ Keystream Condition

596 82 = 834 = 860 = 66 = Og2 = O96 = 9 = 0118 = G124 = 154 = O162 = O182 =1

So7 850 = 8114 = 6160 = 1 (86.21%)

Sos 64 = 836 = 066 = 068 = Oga = O9s = 100 = 0120 = 0126 = O156 = 0164 = G184 = 1
S99 852 = 0116 = O162 = 1

5100 06 = 038 = 064 = 670 = G96 = 6100 = G102 = S122 = S128 = G158 = J166 = O186 = 1
S101 854 = 8118 = 6164 = 1 (negligible)

5102 8 = 840 = 866 = O72 = Jgg = 6102 = 104 = 0124 = 8130 = 160 = 0168 = O188 = 1
5103 O56 = 0120 = 0166 = 1

5104 610 = 042 = 868 = 674 = J100 = 0104 = 106 = 0126 = G132 = S162 = G170 = J190 = 1
S105 O58 = 122 = O168 = 1 (negligible)

S106 812 = 844 = 870 = 876 = G102 = 6106 = G108 = 0128 = 8134 = G164 = 172 = S192 = 1
S107 860 = 8124 = 0170 = 1 (60.98%)

S108 614 = 846 = 072 = O78 = 8104 = 6108 = 6110 = 0130 = 0136 = G166 = O174 = J194 =1
S109 862 = 8126 = O172 = 1 (61.73%)

S110 S16 = Oag = 074 = 80 = J106 = 0110 = O112 = 0132 = S138 = 168 = O176 = J196 = 1
S111 64 = O128 = O174 = 1 (64.10%)

Table 8. Conditions to confirm all the registers in S;,;.14&Sp,y:c15 are affected by faults.

Target Register ~ Keystream Condition

S112 018 = 850 = 676 = Og2 = 8108 = 6112 = 114 = 0134 = 8140 = 170 = O178 = G198 = 1
S113 866 = G130 = S176 = 1 (82.64%)

S114 620 = 052 = 678 = 084 = 0110 = 6114 = O116 = O136 = 0142 = 172 = J180 = O200 = 1
S115 S8 = d178 =1

S116 O22 = 854 = 880 = Og6 = G112 = 6116 = 0118 = 0138 = 6144 = G174 = S182 = F202 = 1
S117 670 = 6134 = 180 = 1 (negligible)

S118 024 = 856 = 082 = Ogg = 0114 = 6118 = 120 = G140 = 6146 = 176 = 0184 = G204 = 1
S119 072 = 0136 = 182 =1

S120 026 = 058 = 084 = g0 = 0116 = 6120 = O122 = J142 = G148 = 178 = O186 = G206 = 1
S121 O74= 08138 = G184 =1

S122 028 = 060 = 086 = 092 = 0118 = G122 = G124 = 6144 = G150 = G180 = S188 = F208 = 1
S123 676 = 0140 = 6186 = 1 (61.73%)

S124 030 = Op2 = 088 = g4 = 8120 = G124 = O126 = O146 = S152 = G182 = S190 = G210 = 1
S125 078 = 0142 = 188 =1

5126 032 = 864 = 890 = g6 = 0122 = S126 = O128 = O148 = 0154 = 184 = G192 = F212 =1

S127 880 = 6144 = 8100 = 1 (63.29%)
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APPENDIX B

LIST OF CONDITIONS FOR IDENTIFYING ALL THE TARGET REGISTERS IN THE LFSR USING A
FOUR-BYTE MODERATE CONTROL

Table 1. Conditions to confirm all the registers in Sy, /0&Shy1e1&Spyre2&Shyre3 are affected by faults.

Target Register ~ Keystream Condition

So 634 =033 =1

S1 (834, 638) # (1,1),and (644, 8a5) # (1,1),and (850, 654) # (1,1),and Sgs = 676 = 652 = 1

S2 836 =040 =1

S3 (034, 038) # (1,1), and (836, S40) # (1,1), and (542, 646) # (1,1), and (852, 856) # (1,1), and dgs = S7s =
854 =1

sS4 O3 =040 =1

S5 (634, 038) # (1,1), and (836, 640) # (1,1), and (I3s, d42) # (1,1), and (42, 646) # (1,1), and (S44, d4g) #
(1,1),and gs = 00 = Os6 = 1

S6 840 =044 =1

s7 (034, 638) # (1,1),and (864, 076, ds2) # (1,1,1),and (836, da0) # (1,1), and 834 = Se6 = 870 = g2 = Jgs = 1

Ss O42 =046 =1

So (636, 040) # (1,1),and (S3s, d42) # (1,1),and 836 = dgs = O72 = dga = dgp = 1

S10 O4a =048 =1

S11 (864, 076, 0s2) # (1,1,1),and (8ss, 842) # (1,1),and 635 = 70 = 074 = 06 = Sg2 =1

S12 846 =050 =1

S13 (636, 040) # (1,1),and (S840, 644) # (1,1), and (834, de6, 70, Os2, dsg) # (1,1,1,1,1),and (842, d46) # (1,1),
and 640 = 672 = 076 = Ogg = Ogs =1

S14 S48 = 052 =1

S15 (638, 042) # (1,1),and (842, d46) # (1,1),and S42 = 74 = S75 = g0 = dgg = 1

S16 850 =054 =1

S17 (640, 644) # (1,1), and (44, d48) # (1,1), and (J3s, 670, O74, 086, O92) # (1,1,1,1,1),and (S46, 650) # (1, 1),
and 644 = 876 = 0gp = Og2 = Sgg =1

S18 052 = 856 = 1

S19 (642, 646) # (1,1),and (846, 650) # (1,1), and (540, 672, 676, Oss, O94) # (1,1,1,1,1), and 846 = 878 = ds2 =
894 = 6100 =1

S20 054 =858 =1

S21 (034, 03s) # (1,1),and (644, 645) # (1,1),and (S4s, 652) # (1,1),and d46 = 675 = Ss2 = Sga = d100 =1

S22 856 = 060 = 1

S23 (836, 640) # (1,1), and (846, 650) # (1,1), and (S50, 854) # (1,1), and (852, 656) # (1,1), and 659 = g2 =
886 = 0gg = 6104 =1

S24 058 = 862 =1

S25 (638, 042) # (1,1),and (das, 652) # (1,1),and (ds2, 656) # (1,1),and (846, 678, Is2, O94, S100) # (1,1,1,1,1),
and 652 = 0g4 = Ogg = 100 = 0106 = 1

526 (060, 064) = (1,1)

Sa27 (634, 638) # (1,1), and (840, 644) # (1,1), and (50, 654) # (1,1), and (Is4,658) # (1,1), and
(852, 854, Oss, 0100, 0106) # (1,1,1,1,1), and 652 = 084 = O8s = O100 = O106 = 1

S28 (642, 846) # (1,1), and( 62, d6s) = (1, 1)

S29 (036, 040) # (1,1), and (642, 046) # (1,1), and (852, 656) # (1,1), and (Js6,060) # (1,1), and
(850, 082, 086> 0o, 0104) # (1,1,1,1,1),and 656 = dgg = S92 = G104 = 110 = 1

$30 Efyi,)é}g) # (1,1), and (644, 64s5) # (1,1), and (50, d54) # (1,1), and (60, 664) # (1,1), and (Je4, d6s) =

S31 (638, 042) # (1,1), and (844, 645) # (1,1), and (54, 658) # (1,1), and (658, 862) # (1,1), and

(852, 084, 988> 0100, 0106) # (1,1,1,1,1),and 655 = Sgo = Soa = 6106 = 6112 =1
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Table 2. Conditions to confirm all the registers in S;,;c4&Spyre5&Spy106&Spy o7 are affected by faults.

Target Register ~ Keystream Condition

S32 (666, 676) # (1,1), and 666 = 670 = 1
§33 860 = dge =1

534 (868, 078) # (1,1), anddeg = 672 = Sssg = G100 = 6104 = S120 = 1
$35 G2 = dgg =1

S36 (838, 970, 0765 080> 0108, 0112) # (1,1,1,1,1,1),and 679 = 874 = S90 = G102 = d106 = G122 =1
s37 064 = 096 = 0100 = 0112 = G118 = 1

$38 S66 = 076 =1

539 Og2 = 6102 = 0114 = 6130 = 1 (68.03%)
540 Og = 078 =1

S41 S84 = 0104 = 6116 = 0132 = 1 (68.03%)
S42 038 = 070 = 676 = Og0 = S108 = 6112 = 1
S43 886 = 6106 = 6118 = 6134 = 1 (43.29%)
S44 040 = 072 = 678 = 082 = 8110 = 6114 = 1
Sa5 Oss = 0108 = 6120 = O136 = 1 (43.86%)
Sa6 O42 = 874 = 880 = g4 = 8112 = S116 = 1
Sa7 890 = 8110 = 6122 = O138 = 1 (48.54%)
Sa8 044 = O76 = Os2 = 036 = 0114 = O118

S49 S92 = 6112 = G124 = 6140 = 1 (80.65%)
S50 646 = 078 = 084 = Ogs = 0116 = 0120

S51 94 = 0114 = 6126 = 6140 = 1 (71.94%)
S52 O48 = 0g0 = 086 = O9go = 0118 = S122 =1
S53 896 = 0116 = 0128 = O144 = 1 (66.67%)
S54 050 = Og2 = g = 092 = 120 = 6124 =1
S55 S9g = 0118 = 6130 = 6146 = 1 (54.95%)
556 052 = 084 = 890 = 094 = G122 = 6126 = 1
S57 8100 = 8120 = 6132 = G148 = 1 (54.35%)
S58 054 = 086 = O92 = Ogg = 0124 = S128 = 1
S59 G102 = 8122 = 6134 = S150 = 1 (45.66%)
560 056, 09 =1

561 G104 = 8124 = 6136 = O152 = 1 (53.76%)
S62 (6665 676) # (1,1), and 858 = g0 = g6 = G100 = 0128 = 0132 =1

563 8106 = 0126 = 0138 = O154 = 1 (49.26%)
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Table 3. Conditions to confirm all the registers in S;,y/.8&Spy1c9&Spyre10&Shyre11 are affected by faults.

Target Register ~ Keystream Condition

S64 860 = 092 = G9g = 0102 = 0130 = S134 = 1

S65 8108 = 6128 = 8140 = 6156 = 1 (26.25%)

566 G062 = 094 = 6100 = O104 = 0132 = S136 = 1

S67 8110 = 8130 = G142 = 6158 = 1 (27.70%)

Ses G4 = 096 = 6102 = O106 = 0134 = O138 = 1

S69 0112 = 0132 = 0144 = O160 = 1 (27.10%)

$70 034 =0124=1

s71 (836, d6s, 100> 01105 0130, O142, S158, 6164) # (1,1,1,1,1,1,1,1), and s> = Sgs = O114 = S130 = S134 =
O152 =1

S72 036 = 0126 = 1

s73 (636, 685 01005 01105 0130, 0142, O158, F164) # (1,1,1,1,1,1,1,1), and 64 = 100 = d116 = 132 = S136 =
O154 =1

S74 (834, 066, O9s, 0108, O128, 0140, 0156, S162) # (1,1,1,1,1,1,1,1), and 835 = Sg6 = S108 = S112 = O128 =
0140 = 8144 = 6160 = 1

575 (040 698, 01105 61145 0130, 0142, G146, O162) # (1,1,1,1,1,1,1,1),and (840, 672, 6104, 0114, 6134, O146, G162, F168) #
(1,1,1,1,1,1,1,1), and 68 = 6102 = 6118 = S134 = S138 = J156 = 1

576 (036, O6s, 0100, 0110, 0130, 0142, O158, 6164) # (1,1,1,1,1,1,1,1), and 640 = 9 = S110 = S114 = S130 =
G142 = 8146 = S162 =1

S77 (642, 674, O1065 01165 01365 0148, O164, 0170) # (1,1,1,1,1,1,1,1), and &gz = 104 = d120 = 136 = G140 =
6158 =1

s78 (636> 968> 01005 01105 0130, 0142, O158, F164) # (1,1,1,1,1,1,1,1), and S42 = 100 = d112 = S116 = S132 =
0144 = 0148 = 6164 = 1

579 (644, 6765 0108, 0118, 0138, 0150, V166, 172) # (1,1,1,1,1,1,1,1), and Sgp = 106 = d122 = S138 = O142 =
d160 =1

580 (840, 072, 0104, 0114, O134, S146, G162, S168) # (1,1,1,1,1,1,1,1), and 44 = 8102 = S114 = S118 = S13a =
0146 = 0150 = 166 = 1

Ss1 034 = 066 = O9g = 0108 = G128 = G140 = S156 = S162 = 1

S82 O46 = Og2 = 6104 = O116 = 0136 = 0148 = O168 = 1

Ss83 036 = d6s = 6100 = 0110 = 0130 = 0142 = S158 = 0164 = 1

S84 O4g = Oga = 0106 = 0118 = 138 = 150 = S170 = 1

sS85 038 = 870 = 6102 = O112 = 0132 = 8144 = 160 = O166 = 1

S86 (882, o8, 0114, 130, 0134, O152) # (1,1,1,1,1,1),and 650 = dg6 = G108 = G120 = G140 = S152 = S172 =1

Sg7 040 = 672 = 8104 = O114 = 6134 = 0146 = 0162 = 0168 = 1

Sss (684, 61005 01165 01325 0136, O154) # (1,1,1,1,1,1),and 652 = dgg = 6110 = 122 = 0142 = S154 = S172a =1

S89 O42 = 874 = 6106 = O116 = 0136 = G148 = G164 = O170 = 1

590 (0865 61025 0118, G134, O138, O156) # (1,1,1,1,1,1),and 854 = dgo = S112 = O124 = G144 = S156 = O176 = 1

S91 644 = 876 = 6108 = O118 = 0138 = 0150 = 166 = O172 = 1

S92 (688, 6104 0120, 01365 0140, 0158) # (1,1,1,1,1,1),and 656 = S92 = 6114 = G126 = G146 = O158 = O178 = 1

S93 O46 = 078 = 6110 = O120 = 0140 = 0152 = 168 = O174 = 1

So4 Op = 058 = 894 = G116 = O128 = G148 = G160 = O180 = 1

S95 048 = 080 = 0112 = 0122 = 6142 = G154 = 6170 = O176 = 1
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Table 4. Conditions to confirm all the registers in S,y /012&Spy1e13&Shy1e14&Shyre15 are affected by faults.

Target Register ~ Keystream Condition

596 02 = 834 = 860 = 066 = 092 = O9s = Ogg = 0118 = O124 = O154 = J162 = 0182 = 1

So7 850 = 6114 = d160 = 1 (88.50%)

Sos 04 = 036 = G66 = 068 = O9a = S9s = G100 = G120 = O126 = J156 = O16a = O18a = 1
599 O52 = 8116 = 6162 = 1 (86.47%)

5100 86 = 038 = 064 = 70 = O96 = 6100 = 0102 = J122 = S128 = 158 = J166 = O186 = 1
S101 054 = 0118 = 0164 = 1 (88.50%)

5102 08 = 840 = 866 = O72 = Ogg = 6102 = 0104 = O124 = G130 = 160 = O168 = O188 = 1
$103 056 = 0120 = O166 = 1 (84.03%)

5104 010 = 042 = G = 074 = 6100 = 6104 = 6106 = G126 = G132 = S162 = G170 = S190 = 1
$105 S58 = 0122 = 6168 = 1 (86.97%)

5106 012 = 844 = 670 = 676 = J102 = 6106 = 108 = G128 = 0134 = 164 = O172 = G192 =1
S107 860 = 0124 = O170 = 1 (56.82%)

5108 014 = 846 = 672 = O78 = 8104 = 6108 = 110 = 0130 = 0136 = 166 = O174 = O194 =1
S109 862 = 6126 = 0172 = 1 (58.14%)

S110 016 = O4g = 074 = 080 = 6106 = 6110 = 6112 = G132 = S138 = S168 = G176 = S196 = 1
S111 864 = 6128 = 0174 = 1 (59.92%)

S112 018 = 050 = 676 = Og2 = 8108 = 6112 = 0114 = 0134 = 8140 = 170 = O178 = G198 = 1
$113 866 = 6130 = 0176 = 1 (55.87%)

S114 020 = 052 = 678 = 084 = 0110 = 6114 = O116 = 0136 = 0142 = 172 = O180 = G200 = 1
s115 Ses = S17s = 1 (56.18%)

S116 822 = 854 = 880 = 086 = 0112 = 6116 = O118 = 0138 = 6144 = G174 = S182 = F202 = 1
S117 870 = 6134 = 6180 = 1 (58.82%)

S118 024 = 056 = Og2 = Ogg = 0114 = 6118 = 120 = 0140 = 6146 = 176 = 0184 = G204 = 1
S119 872 = 6136 = G182 = 1 (56.18%)

S120 026 = 058 = 084 = 9o = 0116 = G120 = 122 = O142 = O148 = 178 = O186 = G206 = 1
S121 O74 = 0138 = 0184 = 1 (56.60%)

S122 828 = 860 = Og6 = O92 = 8118 = G122 = 124 = G144 = 8150 = G180 = O188 = F208 = 1
S123 876 = 0140 = 6186 = 1 (53.48%)

S124 030 = dp2 = Ogg = g4 = 8120 = G124 = 126 = O146 = S152 = G182 = 190 = G210 = 1
S125 S78 = 6142 = 6188 = 1 (53.19%)

5126 032 = 0pa = 890 = g6 = O122 = G126 = 128 = 0148 = G154 = 184 = 0192 = O212 =1

S127 080 = 0144 = S190 = 1 (49.50%)
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